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Run 4603 mpswise, accO: All

Entries: 805163

Mean: 8.8734 +/- 0.0030

Std Dev: 2.6549 +/- 0.0021
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Acc0/NAccO

Run 4603 mpswise, accO: Beam ON, Laser ON

Helicity==
— Helicity==1

Entries: 192253

Mean: 11.3311 +/- 0.0015

Std Dev: 0.6437 +/- 0.0010
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Run 4603 mpswise, accO: Beam OFF
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Run 4603 mpswise, accO: Beam ON, Laser OFF
22000 —
E Helicity==
20000 -
E — Helicity==1
18000
16000 F—
14000~
12000 :_ Entries: 191673
10000 :— Mean: 7.1098 +/- 0.0008
8000 :— Std Dev: 0.3686 +/- 0.0006
6000
4000
2000
N = P P PP PP PP Y PP IO | Lieos
0 1 2 3 4 5 6 7 8 9 10




	Contents
	Page 1


